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Answer ALL questions.
A PART A — (10 x 2 = 20 marks)
1. Define R.M.S. value of an alternating quantity.

2. Name the essential torques required for the proper operation of indicating
instrument.

3. An 8 pole, lap wound armature rotated at 350 rpm is required to generate
260 V. The useful flux/pole is 0.05 Wb. If the armature has 120 slots, calculate
the number of conductors per slot.

4.  What is the significance of back emf?
e A

5.  Compare PN junction diode and Zener diode.
6.  What is effect of saturation of a transistor?

7.  Convert 7F8, into decimal.



8.  What is a flip flop?
9. Differentiate analog and digital sighals.
10. Define Total internal reflection.
PART B — (5 x 16 = 80 marks)

11. (a) Describe Kirchoffs laws. For the circuit shown in the figure below,
determine the current through 6 Q resistor
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Or

() (@) With the help of diagrams, explain the construction and working
principle of permanent magnet moving coil instruments. Obtain an
expression for its deflecting torque.

(ii) Explain the working principle of dynamometer type of wattmeter.

Mention its disadvantages also.

12. (a) A 220-VD.C. series motor runs at 700 rpm when operating at its full-load
current of 20 A. The motor resistance is 0.5 Q and the magnetic circuit

may be assumed unsaturated. What will be the speed if:
-(i) Load torque is increased by 44%?
(i) Motor currentis 10 A? :
(iii) Explain the operation and principle of a DC motor.
Or

(b) Explain the construction of single phase transformer.
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